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Context: Peggy has 5 apples. Judy has 3 less apples than Peggy.
Walter has 2 more apples than Peggy. Carol has 2 more apples than
Judy. How many apples does Carol have?

Reasoning Processes: Peggy has 5 apples.
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Reasoning Processes: Peggy has 5 apples.

Context: Peggy has 5 apples. Judy has 3 less apples than Peggy. Walter has 2 more apples
than Peggy. Carol has 2 more apples than Judy. How many apples does Carol have?

—_—

SEETI

y

( iy = >
RENLFHEBAVRE: AR EER:
AN ORBOAREHMAIRIZIC L2BR UT oL, LT OBITIE, Peggy—Judy—Carol DBIRAH 5 7=,
&Y SRIEWX 2 ROHERERR E L TRIRT 2857, JudylCBEId 5 X & H 7.
Context: .... Judy has 3 less apples than Peggy. Context: .... Judy has 3 less apples than Peggy. Carol has
k Walter has 2 more apples than Peggy. ... 2 more apples than Judy. How many apples does Carol have?
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Context: James’s mother decides to run 2 sprints 2 times

a week. James decides to run 3 sprints 3 times a week.
James runs 60 meters each sprint.

Question: How many total meters does James run a week?
Answer: James sprints 3*3=«3*%3=9»9 times..
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Context: Bob decides to run 2 sprints 2 times a week.

James decides to run 3 sprints 3 times a week. James runs
60 meters each sprint.

Question: How many total meters does James run a week?
Answer: James sprints 3*3=«3%3=9»9 times..
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data type

GSMS8K-overlap 59.5%
GSMB8K-not-overlap 39.2%
GSMB8K-pos 27.0%
GSMS8K-neg 24.3%
GSMB8K-head 39.2%
GSMBS8K-tail 27.0%
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Context: Peggy has 5 apples. Walter has 2 more apples
than Peggy. Judy’s mother has 3 less apples than Peggy. ...
Question: How many apples does Judy have?
Reasoning Processes: Peggy has 5 apples. Walter has 2
more apples than Peggy. ...
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Answer the context question according to the following
example.

Context: Walter has 1 apples. Ursula has 3 more apples
than Walter. Victor has 3 more apples than Ursula. Quentin
has 2 more apples than Ursula. Nancy has 3 more apples
than Walter. Zoe has 3 more apples than Nancy. Heidi has
3 more apples than Nancy. Carol has 4 apples. Xavier has
3 more apples than Carol. Peggy has 4 more apples than
Xavier. Dave has 3 more apples than Xavier. Bob has 1
more apples than Carol. Alice has 3 more apples than Bob.
Sybil has 2 more apples than Bob.

Question: How many apples does Dave have?

Answer:

Carol has 4 apples, and Xavier has 3 more apples than
Carol. So, Xavier has 7 apples.

Xavier has 7 apples, and Dave has 3 more apples than
Xavier. So, Dave has 10 apples.

The final answer is 10.

Context: Context: Zoe has 6 more apples than Larry. Ivan
has 4 more apples than Nancy. Olivia has 3 apples. Zoe
has 3 less apples than Sybil. Sybil has -1 apples. Nancy
has 0 apples. Carol has 5 less apples than Olivia.
Question: How many apples does Zoe have?

Answer:

Sybil has -1 apples, and Zoe has 3 less apples than Sybil.
So, Zoe has -4 apples.

The final answer is -4.

Context: Context: Zoe has 10 more apples than Dave. Eve
has 2 apples. Dave has 3 more apples than Eve. Yvonne
has 3 more apples than Quentin. Yvonne has 3 less apples
than Zoe. Zoe has 3 more apples than Grace. Trent has
3 more apples than Zoe. Ivan has 3 apples. Ursula has 3
more apples than Zoe. Grace has 3 apples. Zoe has 3 more
apples than Ivan.

Question: How many apples does Yvonne have?
Answer: Eve has 2 apples, and Dave has 3 more apples
than Eve. So, Dave has 5 apples.

Dave has 5 apples, and Zoe has 10 more apples than Dave.
So, Zoe has 15 apples.

Zoe has 15 apples, and Yvonne has 3 less apples than Zoe.
So, Yvonne has 12 apples.

The final answer is 12. Context: Victor has 1 more apples

than Mallory. Judy has 3 less apples than Peggy. Rob has
-2 more apples than Eve. Peggy has -5 apples. Walter has
3 more apples than Peggy. Eve has 3 apples. Peggy has 3
more apples than Walter. Mallory has 3 more apples than
Eve.

Question: How many apples does Victor have?

Answer: Eve has 3 apples, and Mallory has 3 more apples
than Eve. So, Mallory has 6 apples.

Mallory has 6 apples, and Victor has 1 more apples than
Mallory. So, Victor has 7 apples.

The final answer is 7.

This work is licensed by the author(s) under CC BY 4.0
(https://creativecommons.org/licenses/by/4.0/).



